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e u=gd A (Etel: &)
SA - B SRA(SH) - MRAY - BAS 04 4 o 71 o HIDE2
DM = MY AHE A 78,821 65,711 13,110
HEMHIA SFat 72,221 59,111 13,110
101 2l244| 17,507 0 17,507
10 JIZNZZ2NSES 17,507 0 17,507
OJIZ2 0/B= @ oA 16,009 0 16,009
—JlEs 35,5703 «3H x120 12,806 0 12,806
—EX=E 35,5703 x3H 6 641 0 641
—F5xd 35,5703 »3F 24 2,562 0 2,562
OJIS= b/B7= HYY 401 282 1,498 0 1,498
— & HEE 16,006,5002 %10/1,000 161 0 161
—1EEE 16,006,500 +13/1,000 209 0 209
—dHEE 16,006,500 %25.4/1,000 407 0 407
—=0%= 16,006,500 *45/1,000 721 0 721
201 B2 14,454 15,654 A1,200
01 ArR22idl 14,454 15,654 1,200
OHEMHIATE MI S 6,000& *500% 3,000 4,200 21,200
206 =4 7,560 10,757 A3,197
01 M=l 7,560 10,757 A3,197
Otz EMEZE BEEHIE 7 7,560 10,757 A3,197
—2E4K 8643 *2,0004 1,728 2,592 A\864
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=MHuF 24832 St 222 R |4 485,940 481,440 4,500




FA:
K ZH
o T

£

Ooll

—

i

40
2]
o

02

Er2 (31) - HaS o 0| o ==l

=2 485,940 481,440 4,500
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39,560 37,060 2,500

250,000&*10% 2,500 0 2,500

14,500 12,500 2,000

14,500 12,500 2,000

(SC1)=le Ity 2,000,000&*13 2,000 0 2,000

2323HI( 6,611,176 4,814,583 1,796,593
A23H 6,341,428 4,544,835 1,796,593
ol 1,109,705 629,705 480,000
1,109,705 629,705 480,000

1,092,000 612,000 480,000

60,000,000 »18H 1,080,000 600,000 480,000

Z 240l 5,042,358 3,725,765 1,316,593
03 L&Z 5,042,358 3,725,765 1,316,593
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—9227159 - 102(1052) 429,929 598,072 168,143
-S&=2 1,267, 100 2612 %20/ 100230/ 100 152,129 215,306 A63, 177
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S 1,267, 1002 26124*40/100+90/ 100 119,057 167,460 48,403
—XNE&&(15588) 3,480 2,678 802
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—AARAH16ES) 5,194 3,99 1,199
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— XIS AK( 19,362 14,894 4,468

N S= 1,861,500 *82 *20/100+230/ 100 6,851 5,362 1,489

ASE 1,861,500 *8Z +30/100% 160/ 100 7,149 5,362 1,787
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—HAZF(AHAH0SE) 149,915 120,683 29,232
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